ke

ul

A

ul

-

ull

25

-

ul

B

O
—

)+ (A% 9 AR

(=)
®. JE4E HESE T

Ut

£

Huek

o
21

Ho

T T 4
R
X

o

,m_u4_5

<k

2}
ol

Mo <F o
ol bl
oz W T W
KR %
T or TR

@@@@3_5

Al
=}
7
7
EE ]
X

5




ML

=
=

3}
% 1o o] g
2= A

G

.

ul




o
lo
filo
2,
>,
<
k1
oA
pin)
rlo
ol
filo
uk
o
N,
fol
il
[¥
>,
o

4
1-x2+5
9
35 12 24
®%1 Q% (@9—21))1
_ - 1=
® 215 @ 45 56
> =
(S I= N G)
4 4 1 13 1 26

12 %25 =1-x2x2 =2 xox == 20
g X2TOSlgX2X g =g XX Y = =







m
T

ul

A

~

-

ul




<
T

11

-

~

12

<

KA

=i

@, O,

H

ohg

6.

ma

-

ull
KO

A

RS
18

9x2=18¢Yrch

3x3=09,
(‘:59’1 '{l\_) _2:6_2:4a

(=A== 9] =)

Q
®)
©




47

._ﬂ_.u
RO




50

o
B
BH

SEERD:




& 21 o] WY o] 4ok A o] Soke] wA A [ et
Qe 2 mAQ,

(A 5) = (TH] W] &) x|

=
H -

oH s

>
[> pal= 2

(mAEl 2] 4)= (W] W] )x2 Ayt




10. & O%tll >, =, <& YUA HE oA Q.

845+13 (0 16.8+24

8.45 + 13 = 0.65, 16.8 +24 = 0.7
8.45+13<168+24




B9 & 745+5=14.9(L)




12. o= 22 99 (2) - (1) 9 & oA L.

70 | 4
25| 8 | (2)
(1)
> =
> = 0.325
70 280
(1) T0+25= o =5 =28
25 3125
(2) - (1) = 3.125 — 2.8 = 0.325




2
1-=+3
® 7

—+11
—+4

1

@ 4
® 2

=7

1

i

7—+3
® 5

D)2




14, BFARF] Wol7k 307 em? A W, ol F em 94 FHHAL.

.
"--9cm---
1 1 1
@ 3%—20m @ 365cm ©) 3Zcm
@35(3111 @31—2cm




15.

12 12 12
2= it (12
R A W
1 1 1 112 12
3—><7+5:—6><7 = = —

5 5 XTX5= 55 — 4




74991 o7k 312 em? o], Rlo] TemAeolE 2 am 914

3
@ 6§cm @ 74—930m ©) 8Ecm
@9Ecm @IOEcm
31§X2+7:@ 2 1—%—930




1471

o
A

—+7X2

3
4

©)

=4 X7

€»§+2x5
®

3

- +3x%x3

% X

- +5X6
@ 1 T 0%

@

~&B

3} ol®| o] Fo2 Lehyo] o 27}

o | <

3}4
T o
iy X
v X
K oM <t
mp
o ™

X
T -
md
%034
N ©




18. the 77152 AEolq mAE] m 53 AAAE mAEE o]
AYU7H?

N

@O BAY v @ RAME v A ® BAY ~o
@EHE} IE ® BAY s

ol WAEE WL vl AL O BA w57 Tt BA
2l RAE) me gl




SR

Bo
!

,_01_

of oh

e

19
ofH A=

T




20.

Agol AAAE 183 5] 8.6km S DALY Aol 1
2ol oF 2 k& DA AAA] &5 A A4 urLsto] viet

—

WAL, (0.666--- — °F 0.67

w
B

> E

[> ®g . °F0.48km

12 < AR 29 A
1 8.6+18=0477---(km)
— 9F 0.48km

=)
A
8.




21.

Stotr] 2] ¢ o 2|7} HFE-& EWIL W ¥, HIS & Jf4E AlojHY
Srol )= 180 /M, oFH A= 170 7H7} Eoks5 Ut Totn x| o] 2
HEEEof gt ofH 2] 9] F2 vhE-E9] H| & H] 9] gfo =2 vrehd 72
ol AJY7F?

7 17
® 5z O

@ @

Nel ool
NeJIEN|
ool

17
170 : 180 =17 : 18 = T




22,

H]go] 22 ZA7]8] d9A A o= o]ojl A A=AL,

(1) 7 1} 5 9 H] @% @0.35

(2)9 9] 12 o] thgt H] @1§ ©0.75

(3)20 o Tt 7 o W] @% @14

® 1160 @ 2-0-0 @6
@ 60 ® (3+3-0

~&B

(7?}5941:']94%:;:1%:1.4
(o) 0] (e] —g—é—
(9 ] 12 of Higt 9 gh)= 5= 1= 07
7

(20 °fl T3t 7 o H]<] FY) =0.35

" 20




S5 Bl E HA e Fe 71 AU AA 450t F,
2|7} 270t YFUch A Sofl e o] S MRS R 2
UERA AL o= Adu7t?

®30% @3% @)% @5% O 50%

B

GOl 4= 45 - 27 = 18(1t=])
Aol High o 4] H] 18: 45

1
_ g - £ x 100 = 40( %)




24. b= BV FHE0] E AR £ AS 1AL,

0.408, 48%, 48.8%

® 48.8%, 0.408, 48 % @ 48 %, 48.8%, 0.408
@ 48%, 0.408, 48.8% @48.8 %, 48 %, 0.408

® 0.408, 48 %, 48.8%

B

nE 242 Ueifo] Yt

48 %— 0.48

48.8 %— 0.488

whabA] 48.8 %> 48 %> 0.408 YU T}




A

Tor

S 15%
y7t?

= 30%°]aL, o

)|

ot
o
B
olJ

=0

Al

o)

@ 28 ® 264

® 329

400 x 0.3 = 120 ()
A ot

120 % 0.15 = 18 (




